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I Source for 3 0171 —v. 1 (3 mentions of nYR)
a WK1 —all 3 mentions needed
b 1mv 1 - first one needed for essential statement - #2-3 mean “2” and we need odd number - 3
i Dispute: m>nn pwnT
1 Rejection: all agree that we don’t count first instance of repeated phrase
ii  Dispute: whether the first occasion of n'n9R is to be expected (ymv ") or is unusual (should say vayw — )
1 Challenge: doesn’t nw®’ "1 require a built-in odd number as per v. 2? (> can have majority)
2 Answer: he relies on "’ "v's approach to 5 772 (70 — even)
(a) Challenge: we only know nmn’ "v's approach as applied to 5110 7"3; does he apply to smaller 772?
(b) Proof: nmin» ’s approach to 0%y nar1y and o1pr N> 0o (5) is buttressed by need for odd number
(i) Rather: mwr> "1 takes N’ 'v’s approach one step further —
(if) And: he uses v. 2 (mv1Y) to apply to mwa »»»7, but 0”1 require no majority
1. Challenge: ruling that in n"1, majority determines ruling
2. Answer: he infers that via v”p from nmwai »>7
I Analysis *27's unusual opinion (xn>2)
a  Rn»”2:n™ require 3; 17 requires 5
i Supposed reason: that the 7n) should happen with 3 (i.e. at least 3 who find for the decision)
1 reductio (772K "7): )10 772 should require 141 (to have 7"m with 71) and mvp 1Mo - 45 (770 with 23)
2 rather:v. 4 implies 70(1) at time of gathering (17 n%nn); v. 5 implies 20 (+3) at time of judging (37 n%nn)
(a) similarly: v. 1 implies 0n%R (3) at time of approach (11 n%nn)
ii  rather:»a7's reason — YWY implies 2 (plural) + earlier ’n%R = 4; can’t be even 2 5
1 pa7(who say 3): read 1y>w1 as it is written — singular (‘tho vocalized as plural)
III Discussion of n11onY or/RI1pnY OR
a Ny M RDPY IIN ,NYNY 737 PRDY 11 ,PT 12 MY 2am a7 all hold Rapn’ or ¥ (meaning follows vocalization)
i a7 as per above
i PP 2 AT Y —in re: DYV (V. 6)
iii RnW a: requires WNW NN for N193 as per vocalization of MaIp (v. 7 - x3=6; 4 for mxn and 2 12Y)
iv w™:requires 3+ walls for n210 as per v. 8 (2x3=6; 1 for itself — 2 = 4, n"n%n reduces 4'" to nav)
v y™:allows for 5n& nrmv if there is a 07 n'y»11 from 2 ©'nn, as per Mmwa (v. 9)
b Challenge (8n& 7): everyone accepts X1pn? oR, evidenced by v. 10 — we all read it as “milk”, not “fat”
i Rather: all accept X1pnb oR, and each point (above) has a local explanation for the dispute (where applicable)
¢ Challenge: there certainly is a dispute; »1/p™ in re: source for 4 101 M1 (¥ — RIpNY DR; YRYNY’ 1 —nony oR) -v. 11
i Rather: disagreement exists, but only where the lettering is different; if the same (e.g. v. 10) all agree X1pn% ox v
ii  Challenge: there is disagreement even where lettering is the same as per Xnon 12 nT "1 (v. 12)
1 Rather: the disagreement extends to words with common lettering;
2 And:reason we all interpret v. 10 as “milk” —because the phrase Ywan &Y implies 91%a 717 (not with fat)
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